Depletion of Water Table

. Fill in the blanks

A. measures time by the position of the sun.
B. The rate of change of velocity with respect to time is called

C. floor does not allow water to seep in easily.

. True or false

A. Increasing industries are another reason of depletion of water table.

. Match the following:-

Column A ColumnB

I.  Decreases the seepage A. Drip irrigation

rainwater
II.  Narrow tubing B. Hot and dry place
lll.  Rajasthan C. Increasing population

. Answer the following questions

A. What do you understand by depletion of water table? And how it
gets affected?

B. How agricultural activities are the reason of depletion of water table? Explain.
C. What are the reasons of water table depletion? Explain.

D. What is drip irrigation?





